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1.If a particle moves along a curve x=x(t), y=y(t) with constant

speed v(t)=c, show that the magnitude of the acceleration is
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(@ | ‘ﬁ‘ 2“% du, (b) ’d’ (c) [(sin® g + cos g)2dg
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(a) cos“’wfza_y—/;, (b) tan'1x+tan“(%),(c) y=4sin“(§)—%x\/4—x2,
(d) sec V.

4.For the two vectors
A=i+2j-kB=-2i+3j+k find (a) A-B and [A-BJ, (b) component
Y A - - P
of B along A, (c) angle between A and B, (d) AxB,
(e) (A-B)x(A+B) (20%)
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BV =Ve sko(x,p,2) =7 (15%)

6.Taylor’s theorem is relates to the expansion of an arbitrary
function in a power series. Show that the Taylor series expansion

of (1) e, (2) sinx and cosx, (3) Verify the result by expanding the

integral in the relation sin™ x = J:Ld

t
1-¢2

(15%)




